M4x10 (x2)

12.5

D 38.0
480

"

M3x8 bolt
M4x10 bolt

M2.5 hex adjuster screw in bushing
(fine adjustment: 0.2mm per revolution)

(with belleville washer)

~ I
® 17.3
1

M3x10 (x3) bolts /4.0
with spring washer 12.0(x3
and flat washer 45 —= {=—
—— 47.0
3(1.0 (@) |-
37.5 /.
®16.2 L a5
6 holes 2.4mm clear
equally spaced on a
circle of 20.0mm diameter
1171 I [T
— 16.5 = (C
Crre ]
6.9
0.3
15.0 —
I © @@]
20.5 o) © ® °
* R o =5
6 holes 5.5mm diam.
(access to upper plate)
8 7 6 5

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MM.
TOLERANCES ARE:

DECIMALS ANGLES

XXX £ 0.025 *1

XX +0.075

X +£0.125

REMOVE ALL BURRS AND BREAK

SHARP EDGES 0.1 MAX.

MATERIAL

FINISH

WEIGHT 164.41 grammes
4

THIRD ANGLE PROJECTION
APPROVALS DATE

PN AD 575710

CHECKED
ENGINEER

APPROV

DO NOT SCALE DRAWING

3

Thorlabs Quantum Electronics
10335 GUILFORD ROAD, JESSUP MD 20794

SIZE | Doclog No.
A

SCALE 1:2

2

TLK-MHAT1

21059

SHEET 1

REV.
A

OF 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


